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o Array#map & RIFR/SEIEZT S map =233 L. &
| fEXt, BRE &
def map(ary)
ClxIBHB
end
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0 map([1,2,3]) {lviv*2} #=>[2, 4, 6]

0 map([]) {Iviv+1} #=>[]

o map([2,3,4]) {lviv*v} #=>[4,9, 16]

o Array#map Z={E > ary.map {Ivl yield v} 72 & ELND
DIFIZEZDEDIC
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I Z & http://www.ruby-lang.org/ja/man/
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I mapD R &
o J— R4l
I def map(ary)
1=0
r=] # Z2BE 5 (3 B O] A BX

while | < ary.length
fi] = yield(ary[i]) # B2 B E LR
| +=1
end
r FREZEONIDRYE
end




I Array#each |C &2 E%E

o J— R4
I def map(ary)
r=]
ary.each{lvl  # BXRZ5TEMNOEYIRL
r << yield(v)
]

r
end

o Array#<< [FEEHDHRRICERZIEINT 5



o O—N5l
def map(ary)
if ary.empty?
]

else

end

end
e CDEHYBRAENLHIFIL

yield(ary[0])] + map(ary[1..-

1]) {Ivl yield v }
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Array#length TR I %15 T while TIL—7
Array#each

Array#each_with_index

Array#reverse_each Tit|lE (HERTERW)
)% (map [CIXERTEARW)
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